—Is
2020 EHREIXNTIGE - PIE
A—[‘-
SEER
.LD 2.C 3.D 4.A 5A 6B 7.C 8D 9.C 10.C 11.B 12.B
13. KB 125
14 T EHERERE % Y
15 KEE B4 HRERE
16.5% M % KF
17,46 R %
18. 4. 2X10° 20
19.N A5k Ay
20. RAF X107
215 i
22.6.7X10° 5X10' 7|\
23.0.5 2 2:1
24, (D WEFFR

25. (1)1. 89
(2)98 /NF
(K

26. (D WE i

(2) /KT YT it
(DHEEF 1.52
DHD2 3.8
@1

@Q%§Xx38v
0

27, COERFTHAT IR BE 1 -5 HAT R 2 18] 1) 56 5
(2B R R
[2020 6 b X A%R - HRELEE £ 1 R]



28.

29

30.

(O FRH TR K
() R R A A K BE ) F5c i
(5)H it

fif: (DA ik
@ NEEAT T o= 120030 /s

() K MU f AR : Qo =cmAr=4. 2X10° J/(kg » “C) X8 kg X5 C=1.68X10° ]
(D) BB . W=Pt=2. 3X10" WX600 s=1. 38X 10" ]

VRN T R B i .

Qu=mg=1 kgxX4.6X10" J/kg=4.6X10" ]

Eﬁﬂﬂ@&i%:qz%xmo%zw

L 6%107] X100%=30%

SR (Dis3h

(2) FL B 4200 7K - b T 9 R 0 46 T 2 RN R B T

B _ Fg 1.44X10'N
%@i%ﬁi&ﬁﬂ@ﬁﬁ%:pfjfm
(B S HATI, BT LAZE S| )14 TR )
F= f=0.04G=0. 04 X1, 44 X10' N=576 N
8| T . W=Fs=576 NX20X10° m=1. 152 X107 ]

(A0 DU 3 R v L ) ZE T R T HL R -
5 =42 kW « h—38 kW « h=4 kW « h=1,44 X107 ]
1.152X107 ]

A AR L LR RE R FALROR =y 10036 =B <1000 =50%

fift: (DX

(20 IR 1 TP S "3 7k s AT B

RIS R, B R, =5 — 2200~ 121

(8 HIEIZ 1, TAE 30 min 1, St E5 25 CAERI0 10 min, (625 LAER % 20 min,
PV T4 5 44T 06 O

W =Py i =400 WX10X60 s=2,4X10° ]

=y =y =y

Qu =84 Y X Wy =84% X2, 4X10° J=2.016X10" ]

P N Qy 2.016X10° ]
B 3 = VEL [+, — —
Y Qu = et AR IR T R B A em 4.2X10° J/(kg+ C) X3 kg

(D HBER ARSI 27 v IR ARAE 400 s INTHAEITHLRE :

=4,5X10° Pa

16 C

—727 0 e 0 e 4
WﬁSOOO kW « h=0. 009 kW « h=3. 24 X10* ]
Y o N R / . X 4
DI S R A S FR 5 Py =W = 3: 24 X101 gy

t 400 s
P 1, TP S B2 37 fil B L Ry R, BRI, FE I 1 F BEL B A BRI A A 2
Ffe/N A0 TR, PR R S SR B A T A A B2 AL B A, i P=UI = I’R 7]
55 HL S R LA -
o Py Py’ [P SIW 9
I_\/R 1% 1% 1%

+R, NR,+3R, N4R, N4X121 Q 22
S LR R, E’Ji%:ﬂj%:PZZIZRZZIZ><3R1:(2% A)?!X3%121 Q=60.75 W

[2020 4 % XM « HEAEEE 5 2 A SX|



